2003 R Hei=: XIESSF BB

O 0= AUS] e APET (Z2ba A2 ) d8 Fe e test syt

JEDRHE%

o100

I

gINE

SEHA]

[ — | 4

(G = M)

NEE 525 F) ojg7|a Murolgl BHHoldl  BAM  H I
Z A 81 82
A7 A 3 4
(L3 4) APRES 3 4 86.92
AT Al 5 5
(A 71€A3) =¢= 5 5 96.33
THIH A 2 2
(urAr): 7leA) =9 2 2 90.16
AT Al 6 6
(Aursdd: 7leAy) =9 6 6 75.16
BA9F Al 4 4
(BA: 714l =9 4 4 78.83
A A9 Al 15 15
(AWEE: 7|&A ) =Yz 15 15 86.83
AAE95 A 3 3
(A= 71<=A ) T 3 3 79.66
Al 31 32
AetE = 3 3 93.83
Al 3 3 98.33
A4 ;—50%)35,_5 SIEIA 2 2 101
AMTRA DA Al 1 1 98.83
=22 T A} A 5 5 96.66
C:)) AT 3 3 98.83
B i 4 4 95.5
AT 2 2 93.33
J AT 1 1 97.16
S i 3 4 95.5
A i 4 4 92.66
FEA T Al 1 -
Csd: Aol &9 1 - A
A 10 10
o) Ak A| 1 1 96.66
e J -5 Al 1 1 97.16
°zialq]*) F A A 3 3 9116
T 3 3 97.66
F3T 1 1 96.66
2T 1 1 95.5
=297 =895 Al 1 1
YA A8 (=] HAepE s 1 1 70




